1

A
T

6 FEMEANEF®RE

& Tl E DE AR

T8\ AR 3535 DR
(1) B S R 575 D Je (E K AT ¢
—— 5%&% ] 6 LN FE I 6&@%
Je g | T e Ik | s
W 36 0 2 3 34
W E R E R ) R 3 0 0 0 3
H it 53¢ A PR 18 3 3 3 18
% ok D 7 0 2 0 5
= FF = 1 0 0 0 1
/I it 65 3 7 6 61
= 1 0 0 0 1
& @ 6 6 3 7 6 6 2
(2) FERaHEBIRI OME NI M OFCERE H | PRI AR DR HAT :
e YN[
TEAE O FEERE H R
| Bl ol lulB|<|n %
T 7 e RO VN
RIER I B I R T o
# F
W 34| 34 2 3120 2 41 33|32 5
T E R H = 3 3 0 0 3 0 1 3 3 0
w it 7 B 18|18 2 1112 1 111818 3
% e 5 5 0 0 5 0 0 5 5 0
ESI - 1 1 0 0 0 0 1 1 1 1
/I al 61|61 4 4140 3 7160|509 8
e = 1 1 0 0 0 0 0 1 1 0
E 62|62 4 4140 3 716160 8

AR AR IR L




2

TRAE NI RO PR R E DAL
(D) PRAENAE RO BHREE R & OV E 15K BT -
RIEEL
Xy | FhsRIFE . —HRBA R BRI GE i
e BRI E . —
5 it B e 47 W iE KRB | RIFESE
W 1 0 1 0 0 0
T s = 0 0 0 0 0 0
H it 53¢ A PR 0 0 0 0 0 0
% bS] 0 0 0 0 0 0
= B = 0 0 0 0 0 0
4N it 1 0 1 0 0 0
EAEZE 0 0 0 0 0 0
R 1 0 1 0 0 0
(2) BRA NI RO B R SR N2
sk H e A AR TR
SM6H6H13H | SM64FE7TH2H | FEHEMERL-HAEREEE | —HHER
Q) RAENIE M OFT IEE R & O E 5K
RIEHE
DXy | RIS FTIE i b
T FIIE | —EBETIE | HIBR Lirin
woB 0 0 0 0 0 0
R = el N e 0 0 0 0 0 0
w it 53¢ A PR 0 0 0 0 0 0
% B E 0 0 0 0 0 0
= B = 0 0 0 0 0 0
/I G 0 0 0 0 0 0
ke = 0 0 0 0 0 0
a R 0 0 0 0 0 0




(3) BRAENAG B ORI 5 1L G R B ORE 4k

RIEEL
R I NG N . L | FUAEIE | BT
R4, A5 Lk EES TRz 1k N
W 0 0 0 0 0 0
TR L E R R 0 0 0 0 0 0
% it % B 0 0 0 0 0 0
= bS] 0 0 0 0 0 0
= B o= 0 0 0 0 0 0
/I8 = 0 0 0 0 0 0
EAELER 0 0 0 0 0 0
B R 0 0 0 0 0 0
3 PRAE AN OB REERE 3 D R
(1) A FH R D15 HEAT :
s At
AF FEH G BN | Rk
0 0 0 0 0 0
(2) FFATFE R DN B OLERAR T
FkH FAFRINE RUERR I
FERRL

FOR A ZXKiE B B A 1T BN IR E A= O ER
ik prfiE H AN A
ES /P

FOR A Z XIS B A 8 A R e s O ER YL

LA

PrfE B

HAETaES




